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2022
ECONOMICS

Paper : ECO-HE-6016
( Environmental Economics )
( Honours Elective )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate Jull marks
for the questions

Answer either in English or in Assamese :

1. Answer any ten of the following as directed :

" 1x10=

o R e Wb ReHpTR) B omto
(@) What is 'ecosystem?

IS o % 2
(b) Give an example of renewable resource.

RPN oI 51 Srrer fay |
(c) Define welfare economics.

o SYAST e ey |
(d) What is market failure?

&1 Reerer &2
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(e)

(9)

(h)

()

22A/867

(2)

Non-excludability is a feature of .
(Fill in the gap)
Tl Qe 2 3 @1 Gy |
(04 572 =3 1)

The depletion in the ‘ozone layer’ is
caused by

WE'T G ST IR (R
(i) carbon dioxide
RGERZECE Y
(i) methane
fesm
(iii) nitrous oxide
ARG SRS
(iv) chlorofluorocarbon
FIFIIET
(Choose the correct answer)

(e Teach ik Shiean)

What is global warming?
(MR Tawer 3 9

What is free rider problem?
TE SACILR TPyt 9

Write the full form of ERC,
ERCI 39 {15t foray |

( Continued )



(3)

() What is meant by environmental
subsidy?

R I ARy Jferca 6 e Im 2

(k) Mention one cause of air pollution.

I ATE BT IR Ty A

() Define sustainable development.

I Sagq KR |

(m) What is green accounting?
GTo% a1 5 2

(n) What is travel cost method to decide use
value of environmental good?

R AN 9T o0 e W A T
I o fF 2
(o) What is existence value?
ToifRfS yom 162
2. Answer any five of the following questions :
2x5=10
oo opeaTed R e AAivbr Te fran
(a) Define resource economics.
ol RIS e i |
( Turn Over)
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(4)

(b) Distinguish between strong
sustainability and weak sustainability.

T ITTIO] F e TXARAOR WES A
o1y forat |

() Mention two economic functions of
environment.

AR W1 ST IR T 40 |

(d) Write two consequences of global
warming.

(TR T3eOIR 701 AR fore |

(e} Mention two characteristics of public
good.

JrerEaT ARAR o1 C3Ey Sra w4

(/) What is meant by embedding effect?
G 2rere e & o w9

() Mention two approaches of pollution
control policies.

2l frage ST AT X 51 S oray w4 |

(h) Write two arguments for environmenta]
regulations.

“ii{eP TR AR B 3 R |
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(5)

3. Answer any four of the following questions :
5x4=20

oY 2ERT R e v Tag g

(a) Write a note on the importance of
studying environmental economics.

AR SN ST ST @oiqo oS SR
fora o

(b) Explain the important characteristics of
property right.

TSI SR 4 CRBPR Tf 3 |

(c) Write a short note on Tragedy of
Commons’.
RS A e’y R o vy
Brt forr |

(d) Explain the main principles in ftsing
market-based instruments to

implement environmental policy.
Ay WE TR I JWET @

ITRISEF HMREAPTRS T3 56Tz 341 391 |

(e) Briefly mention different economic
instruments available for pollution

control.

ofice Rz @ @ Rfen weAtes
SIREAPRR P ST 1|
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(6)

() Explain the limitations of using
contingent valuation method for
environmental accounting.

AT A T I T IS YT
RSO TSI Trae 341 |

(g9 Write a short note on de{relopment
environment trade-off.

TR AR RS 4RI 8o [ «f 5y BT
o

(h) Discuss about the choice of suitable
policy instrument in developing
countries for control of pollution.
ot AR I TweNe o Sead
AfSore wnfam Mo F7oics seamsan <0 |

4. Answer any four of the following questions :

~ 10x4=40
T AANER R e viikGR Sy o

(a) Explain cleag}ljr the interlinkage between
the economy and environment.

ML e R PRS-
fRcy =8tz 31 a1

(b) What is bio-diversity? Discuss the ways
in which bio-diversity loss may occur.

-t R tww-tae T3 RF
FRPIRR ST T |
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(7))

(c) “Externality creates the problem of
market failure.” Discuss the statement
with suitable diagram.

“qRey @R Reser T R w1
TEICH! Toige foamiRe et < |

(d) Critically explain the Coase theorem.
(PRIZSGLH! AHICGARTE, 361 541 |

(e) What is internalization of externality?
How can negative externality be
internalized?

IRTOR TRl 7 I RO
R BN FRI N[ 2

()« What are the causes responsible for
climate change? What steps have
internationally been taken to mitigate

this problem?

ooy ARG FRPTR 5 7 4R P IR
A SRR [ & omesel a2 T4 (= ?

(g) What is environmental pricing? Explain
the hedonic pricing of environmental

good.
ot @ R7 ARG A TR

e Rcy 3 311
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(8)

(h) How does tradable permit result in
mutually beneficial exchange outcome?
Explain ‘with the help of suitable
didgram.

Treeme R o f 732 SR B Trm
I

() What are the main obstacles of
sustainable  development?  Explain
briefly the main indicators of
sustainable development.

T T oqW (AR R0 I
T PRl Sme Rva sqie
foran o

() What is transboundary pollution?
Suggest some policies to combat
transboundary pollution.

WGTOF o 5 7 @R A7 QR A9 R
s IRER ~rmef a1

* % %
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' ECONOMICS
Paper : ECO-HE-6026

( International Economics )

( Honours Elective )

Full Marks : 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions :
1x10=10

©oq PR R ie bR ey fan

(a) Mention one feature of international
trade.

EEifes AR @1 CIMBs B 4
(b) What is international economics?
T S & 2

() What is meant by comparative cost
differences?

CIETF I 1 e R 3 w0
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(2) ( 3)

(d) Give one essential element of (k) What is political argument for trade
Hecks_cher—Ohlin theory of international intervention?
trade.
AT TWCFoR ARCATST P! 2
ER-SREe SRAEE AW OgoR @bl
TP oAt for | { () What is protection trade?
(¢) What is meant by Leontief paradox? Tafwe e 2
P I AL T 7 (m) Define flexible exchange rate.
AR R 29 s o |

(/ How does economies of scale affect

international trade? \
(n) What is foreign exchange market?

Qe fieafer @eme aEEfes ?ﬂﬁ@w
AR 0 ? e R e e 2
(g9 Who developed the technological gap 1 (o) State one main feature of European
model of international trade? Monetary System.
wxﬁiﬁsmﬁm@%ﬁmwwﬁmm T @l R 951 o CRE Tea 4 |
THe FfifRe 2
() Define multinational enterprise. 2. gﬁgﬁer the following questions in brief (a;(ysﬂo
TR B e fe | woTe fil 2pPTRR by T i (R G <iod) -
)G ¢ ;
U Ie one ‘argumment. n:fayour of free (a) Write two subject matters of
trade. ; ; A
international economics.
T e 7740 91 I fan | wEE(fe SR o1 e for |
) Menti biecti
0 enf:1c>1.1 one  objectve of ‘trade (b) What is meant by pattern of trade?
restriction. & b
T 499 WA !
qlfetey foRgeR @b S TeE 4 | b
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(c)

(@

(e)

(9)

R

22A/868

(4)

Distinguish between complete and
incomplete specialization.

oy e 7oy Rea@ieaed wrere < fdfa
911

Mention two assumptions of Heckscher-
Ohlin theory of international trade.

ER-SP e MmO 1
wfSyRen Sra 90 |

What is international - product cycle
theory?

RSP BeAT b SGo! 5 2

Is there any relevance of the theory of
comparative cost advantage in a globally
integrated world? Give two arguments.

e R ofS 7% AN e R
I SR ARl SR ? o1 3 fian o

What is financial globalization?
8y cradieId 7

Mention two causes for the downfall of
Bretton-Woods system.

GH-Bp ofT oo o1 I TCEd 41 |

( Continued )

(S)

3. Answer any four of the following questions :
5x4=20

o] oARd R o wilkerR e famn

(a) What are the reasons for international
trade? Explain. '

esife MR FRIER 72 00 =401

(b) Explain the reasons which led to the
evolution of international economics as
a distinct branch of economics.

AT @1 =@ a Row  wEEicS
Y] FARIPR FRPTR I 3

() Discuss the validity of Ricardian
comparative costs theory in developing
countries.

TR oS RIS’ Do I/ G0N
FRFRT S 9 1

(d) Explain the localization theory of
international trade in brief.

EEifee ISR TR OGO TRIF IR
Ealll

(e) Distinguish between free trade and
protection.
e AW wF TS AET T
gt '
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(6)

() Explain the meaning of tariff. What are
the main types of tariffs?
WE Y PRI TN W AYF  PETR
R

(g) Distinguish between tariff barriers and
non-tariff barriers.
WE AfTT T GN-uE AT WEe
el g 341 1

(h) In what way is the equilibrium rate of
exchange determined under fixed
exchange rate system?

7 Rt ee R oo R 21/
R w2

()

(d)

(e)

(7)

Discuss the superiority of Heckscher-

_Ohlin theory over the Ricardian theory

of international trade. State the limita-
tions of Heckscher-Ohlin theory. 5+5=10

Rd’y welie afies ogele @@R-w'fBw
CEOHR el anal 911 CER-SN

TSGR RTRFerHR Sa 791 |

State and explain the technological gap
model of international trade. 10

esiee e aafERmr F wadl S
T S R0 3 |

Describe the main stages in the product

cycle model. 10
4. Answer any four of the following questions : BT 5F TGOR T TR TV
: 10x4=40
worS fHE PP R @I vikoR T i - () Analyze the effects of tariffs in a partial
(a) Explain clearly the Ricardian equilibrium system. 10
comparative costs theory of SRAF SR IRES BE 2O RemT 11
international trade. 10
’ (g) Explain clearly the concept of optimum
R’y Seifes Afer wommEe T ogo! tariff. Establish the relationship
TG <P 1 between elasticity of offer curve and
(b) “Factor proportions and factor intensity optimum tariff. 4+6=10
provide the basis for export I WE YA =BT I I WFR
specialization.” Explain. 10 754 RIS T IR WE oS TR
“CAMR oS e BomER AR 3RS RUGRA
Resfieaem 3% 1 amm 311 ( Turn Over )
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(8)

(h) Compare the effectiveness of tariff and
quota as weapons of-trade restrictions. 10

s fge wiRen Rot v W~k
e IR ISR woelt F41.1

() How was equilibrium exchange rate
determined under gold standard? What
were the reasons for the collapse of the
gold standard? 7+3=10

e o (e RRw 2/ e
iR cafeet 2 ‘S‘fﬂﬁ I 1SN FRPIE &
HifRet 2

() Discuss the key reasons for the
mtematlonal financial crisis. What are

the effects of the international financial
crisis? 6+4=10

wEifer R8w WN T PR SAC6AT
1 | e RE eie ez B 2

* Kk
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